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The paper is divided into three Sections, A, B and C. All questions from each
Section should be attempted together. All questions are compulsory. -
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' -SECTIONA (@13' AN

1. (a) Describe the circular flows of money in a three sector economy;

7 g srefeeen # g1 < ag Yare w v R ‘ 5
(b) Explain the Tobin’s Portfolio theory of demand for money.
m%mw%ﬁmmmaﬁmml 10
Or (314M) '
(a) How is equilibrium determined in the f1nanc1a1 market in the classical frame-
work? -
wﬁa&a@ﬁﬁﬁumﬁmmﬁﬁmﬁﬁmm% 5
(b) What are the determinants of a flrm s demand for the stock of capital in an
economy? . .
Maﬁmmﬁisﬁ%mésmwaﬁm%rﬁmw%7 10
2. (a) Explam the derivation of the LM curve. What factors determme the slope of
the LM curve? ' '
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(b) Explam the derrvatlon of the Aggregate Demand Curve from the IS- LM )
Model. ' o .
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, . : . Or (amat) S

(a) In the context of the LM curve examine the effectlveness of monetary pohcy
: _in the followmg ' ' :
(i) Keynesian range, (11) Classwal case.
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., (b) Distinguish between the Keynesian Aggregate Supply Curve and Classwal
Aggregate Supplv Curve. - | :
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SECTION B (@UE R)

3. Given that: (f?'qT W% W)
- C=600+0-8Y,4
'1—1500 , :
T=1000 ~ -
G=1000 |
 L=0-20Y-100i
M=2000
YeY-T -
Find: ‘
(a) The equatlon of t]‘ne IS curve.
(b)- The equatlon of the LM curve.
(c) The equlhbrlum of the economy .
- (d) The effect of a change in taxes T from 1000 to 2000 on the IS curve.
. (e) The effect of a change in G from 1000 to 2000 on the IS curve. |
(a) IS aasamnn“mm
(b) LM % 1 GHiEw
(c) FdeTaE H HgeH -
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. Given that: (f&ar e 2 fi)

C=100+0-6'Y, |

- I=220-10i

 T=200

. G=200

L=0-2Y-5i
M/P=100
Find: .
(a) The equation of the IS curve.
~ (b) The equation of the LM curve.
- (¢)  The equilibrium of the economy. . :
(d) The effect of a change in taxes T from 200 to 300 on 1 the IS curve.
(e) The effect of a change in G from 200 to 300 on the IS curve.

(a) Isera;mv_rﬂw

(b) LM &F 1 |efieRol

(c) HdATEN F HIeA »

(d) Isa%qxzooﬁsooﬁml"ﬁqﬁafhmsmraa I
(e) Isa%mzooﬁsoomcﬁqﬁa?hammu_ o N 15

SECTION C (@TUE ®)

(a) Explain the derivation of the short Tun dynamic aggregate supply curve and
vertical long run dynamic aggregate 'supply curve.

meiﬁfaﬁaﬁzmmﬁmmmﬁwﬁqmﬁﬂ |
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~ (b) Define Inflation. Discuss how mﬂatmn affects in soc1al terms.

uﬁﬁaﬁvﬁwaﬁmtmmuﬁﬁmuwﬁm%ﬁ%ﬁmu 7

A ~ Or (31gam)

(a) Distinguish between the Phillips curve and the modern Phllhps curve.
fefer o ok onf Referd o & oft mammy 8

(b) Can an economy remain fully employed" What is the natural rate of -
unemployment? _
wﬁ%aﬁw&ww ﬁﬁrﬁaiﬁﬁﬁmﬁ %ﬁwﬁﬁmaw.

P.T.O. -



L 5533

5 (a)~

4_

How does frxed exchange rate system operate‘? Explaln the effects of frscal. '

. and . monetary pol1c1es using Mundell and Flemmg model under the fixed

. exchange rate in case of small open economy.
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D)

'~'answer with trade defrcrt and trade surplus. .
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Dlscuss the determmants of S&I in a small open economy Illustrate the j 3

eIy SR w Ericd | R 5
 Or (319r@m) | | |
‘What are the -effects of expansionary fiscal and expans1onary monetary

@

policies in the short run on exchange rate and net exports in a large open
economy?

;,astrgaﬁarefsqawqmafuféﬁwaaﬁrﬁaaﬁaﬁﬁfaﬁmﬁa
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(b)

Determme the equ111br1um real 1nterest rate and real exchange rate rn a large
open economy. T -

,aﬁqﬁammﬁmmmaaﬁtwﬁﬁmatw

ﬁﬂﬁmml S A 5

Note: — Kindly note that no dzagrams are requtred for visually zmpazred and hearmg
impaired and in lieu of Question No. 3 attempt the following question:
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6 " Write short notes‘ on the fo‘llowmg:‘ .

(a)

IS Curve

(b) Trade deficit and Trade surplus

- (c) Exchange Rate-— Nominal and Real

: .'ﬁﬂﬁfﬁ@amﬁmﬁmﬁmm

~(a) ISTH -

_(b)wqmaﬁrarmaqu | o - .
(c) ﬁﬁma’{—-m ﬁ(mﬁm s
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